oD

N

U
N

\E
Te

)

S

/s E\
S

¢
Headphone

Station

Charg

Instruction Manual



Included Items

|'[
[

Il
I

ﬂ
[

ﬁ
lI

ﬂ
lI

|'[
H

Il
I

GRID LEG
{2 EACH)

)
[

ﬁ
lI

ﬂ
lI

|'[
H

Il
I

REUSABLE ZIP TIES

]1 (4 EACH)

[= =

ﬂ
[

ﬁ
lI

| o o
e i—1 L | L L L _.:_‘ [
CHARGING STATION SCREEN BRACKET
(2 EACH) {2 EACH)
“ @ : Hardware is in RED BAG
= WASHER #1 WASHER #2
(8 EACH) {4 EACH)
BOLT #1 WING NUT = @
(4 EACH) {4 EACH) BOLT #2 NUT

(4EACH) (4 EACH)

: W POWER STRIP




Assembly

LEG ATTACHMENT ===
ATTACH THE LEFT CHARGING
STATION SCREEN LEG ON TO
THE FIRST CHARGING STATION
SCREEN USING BOLTS #2,
WASHER #2 AND A NUT.
REPEAT ON THE RIGHT. DO NOT
OVER TIGHTEN HARDWARE

||
|
|
L LT T 1
HEEEEEN
[ [ ]
[ [ ]

|
|
T | G

[

il

el

USE SUPPLIED ZIP
TIES TO ATTACH POWER
STRIP WITH CORD
ANGLED DOWN

ATTACH THE SUPPLIED BRACKET TO

a THE CHARGING STATION SCREEN ON
- THE LEFT USING BOLT #1, WASHER #1
AND A WINGNUT. REPEAT ON THE
p—-0-1| 111[9-€ | RIGHT.
a —‘— DO NOT OVER TIGHTEN HARDWARE.
-] | g ONCE ASSEMBLED THE UNIT
F CANNOT BE COLLAPSED
1_-@- & -@--@
~1







